
Wilson coefficient
Dilepton result Dilepton & `+jets combination

68% CL interval 95% CL interval 68% CL interval 95% CL interval
[(Λ/TeV)2] [(Λ/TeV)2] [(Λ/TeV)2] [(Λ/TeV)2]

Ex
pe

ct
ed ctZ

cI
tZ = 0 [−0.28, 0.35] [−0.42, 0.49] [−0.15, 0.19] [−0.25, 0.29]

profiled [−0.28, 0.35] [−0.42, 0.49] [−0.15, 0.19] [−0.25, 0.29]

cI
tZ

ctZ = 0 [−0.33, 0.30] [−0.47, 0.45] [−0.17, 0.18] [−0.27, 0.27]
profiled [−0.33, 0.30] [−0.47, 0.45] [−0.18, 0.18] [−0.27, 0.27]

O
bs

er
ve

d ctZ
cI

tZ = 0 [−0.43, −0.09] [−0.53, 0.52] [−0.30, −0.13] [−0.36, 0.31]
profiled [−0.43, 0.17] [−0.53, 0.51] [−0.30, 0.00] [−0.36, 0.31]

cI
tZ

ctZ = 0
[−0.47, −0.03]
∪ [0.07, 0.38] [−0.58, 0.52]

[−0.32, −0.13]
∪ [0.16, 0.29] [−0.38, 0.36]

profiled [−0.43, 0.33] [−0.56, 0.51] [−0.28, 0.23] [−0.36, 0.35]


